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function z=SecondOrderFStep(omega,zeta)
num=[@ @ omega2];
den=[1 2*zeta*omega 9];
g=tf(num, den);
sys=feedback(g,1,-1);
z=step(sys,[0:0.05:10]);
end

%IBATREFP
yl=SecondOrderFStep(5,9);
y2=SecondOrderFStep(5,0.5);
y3=SecondOrderFStep(5,1);
y4=SecondOrderFStep(5,2);
figure(1)



plot(yl);
hold on;
plot(y2);
plot(y3);
plot(y4);
legend('y1l','y2',"'y3", 'y4");
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function z=SecondOrderFImpulse(omega,zeta)
num=[@ © omega2];

den=[1 2*zeta*omega 90];

g=tf(num, den);

sys=feedback(g,1,-1);
z=impulse(sys,[0:0.05:10]);

end

BIBATREF?
yl=SecondOrderFImpulse(5,0);
y2=SecondOrderFImpulse(5,0.5);
y3=SecondOrderFImpulse(5,1);
y4=SecondOrderFImpulse(5,2);
figure(1)

plot(yl);

hold on;

plot(y2);

plot(y3);

plot(y4);



legend('yll,'y2','y3','y4')}
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AU : (BREEH SecondorderFStep(omega,zeta))

yl=SecondOrderFStep(5,0.1);
y2=SecondOrderFStep(5,0.3);
y3=SecondOrderFStep(5,0.5);
y4=SecondOrderFStep(5,0.7);
figure(1)

plot(yl);

hold on;

plot(y2);

plot(y3);

plot(y4);
legend('zeta=0.1", 'zeta=0.3"',"'zeta=0.5","'zeta=0.7");
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AL (BREIC A secondorderFStep(omega,zeta))

clear all

clc
yl=SecondOrderFStep(1,0.5);
y2=SecondOrderFStep(3,0.5);
y3=SecondOrderFStep(5,0.5);
y4=SecondOrderFStep(7,0.5);
figure(1)

plot(yl);

hold on;

plot(y2);

plot(y3);

plot(y4);
legend('omega=1", 'omega=3"', 'omega=5", 'omega=7");
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AL (BREEH SecondorderFStep(omega,zeta))

clear all;

clc;
yl=SecondOrderFStep(1,0.5);
y2=SecondOrderFStep(2,0.25);
y3=SecondOrderFStep(4,0.125);
y4=SecondOrderFStep(8,0.0625);
figure(1)

plot(yl);

hold on;

plot(y2);

plot(y3);

plot(y4);
legend('y1l','y2",'y3","'y4");
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